
                           
 

GRADE12/ UNIT NINE 

 

I. Vocabulary (20 Marks) 

Choose from a, b, c and d to complete the following sentences: 

(4x5=20)  

1- The ....................... of education stressed the need for  

     recruiting new teachers.      

          a- minister                        b- mail order                     

          c- cookery                        d- portfolio   

2- The more likely scenario is that the president will ...................... and an  

    election will be held.  

    a- put to                            b- fix                

    c- resign                           d- appoint    

3- If you experience any ........................ symptoms after withdrawal of the  

     treatment then contact your doctor. 

         a- immobile                      b- unusual              

         c- competent                    d- custom-made    

4- She was in graduate school, studying for a master's ...........................  

     in social work.  

    a- degree                          b- workshop                  

    c- bill                                 d- parliament   

 

 

 

 



II. Grammar (20 Marks) 

Do as shown between brackets: (4 X 5= 20)    

5- Dana dyed her hair before the party.                (Use a causative verb)                                                                          

a. Dana has her hair dyed before the party.                    

b. Dana had her hair dyed before the party.                                           

c. Dana had dyed her hair before the party.                                

                                                                                                  

6- That building used to be a cinema.                        (Make negative)                                                                                    

a. That building used not to be a cinema.                          

b. That building doesn't use to be a cinema.                                    

c. That building didn't use to be a cinema.                                                                                   

7- The manager will type the report.                     (Use a causative verb)                                                                                                                                                         

a. The manager will have the report typing.                                                                                               

b. The manager will have the report typed.  

c. The manager will have the report types.                                                                                                                            

8- I used to cry a lot when I was a child.                      (Make question)                                             

a. Do you use to cry a lot when you were a child?         

b. Did you use to cry a lot when you were a child?                 

c. Did you used to cry a lot when you were a child?                      

 

 

 

 

 

 

 

 

 

 



III. Writing (40 Marks) 

 

Plan and write a short expository paragraph of 6 sentences 

comparing leisure activities people enjoyed in the past to those 

people enjoy nowadays. 

Write your outline (5 Marks) 

 

Introductory sentence:  

 

 

Supporting details: 

 

 

 

 

 

Concluding sentence: 

 

 

Write your topic here (35 Marks) 

…………………………………………………………………………………………………
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